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d =0.1770in=0.177 x 25.4mm = 4.5mm

o, =194000Psi = 29090 1o, 1337 56MPa
145.04

z,,=0.460,, =0.46x1337.56 = 615.28MPa

7! =0.20,, =0.2x1337.56 = 267.5IMPa
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P. =140N , P_ =590N

— I::’max + I:)min — 365N

p, = Fo P ; Poin _ 205N

(A

(0,0 g D500 Az gl S s 40 Wb

Kz, 051 N K.z, B 0.5x267.51MPa

oo _ . Ty -0.57, ~ 615.28MPa _,  615.28MPa-0.5x267.51MPa
FS ave 1 ave
K, = 4c-1

4c -4

il Bk

r=

2

cd 16 x 365N (Cj

o 16 —

16P, .R(, 0.615)" 2 ( zj 0.615 2 0.615

ave — 3 1+ - Tae = 3 1+ = 2 1+ ——
7d c d c 7(4.5x10°°m) c

1, = (45899499.64c + 28228192.28)Pa = (45.89c + 28.23)MPa

cd 16x 225N (C)

r-Y 16P, | —
16PR 0.615) 2 2 0.615 2 0.615
T, = | 1+ —> 7, = 3 1+ = | 1+

7d c 7d c 7(45x10°m) c

— 7, =(28294212.11c +17400940.44)Pa = (28.29c +17.4)MPa

P YL akl) g0 IS L
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K.z, ~ 0.5x 267.51MPa
615.28MPa __ 615.28MPa—0.5x 267.51MPa
1 ave
:M)‘Q
4c-1
4C_4(28.29C +17.4)MPa 0.5x 267 51MPa

615.28MPa _ 4 0., 2g.03)Mpa  615-28MPa—0.5x267.51MPa

4c=1 98.29¢ +17.4)MPa

4c—4 —0.2778
615.28MPa — (45.89¢ + 28.23)MPa

4c-1
%

4c -4
— (4c —1)x (28.29¢c +17.4) = 652.32¢c — 652.32 — 51¢® + 51¢
—113.16¢* —28.29¢ + 69.6¢c —17.4 = 652.32C — 652.32 - 51¢® + 51¢c
—»164.16¢* —662.01c +634.92=0

— A, =b? —4a,c, = (-662.01)* ~ 4x164.16x 634.92 = 21343.37
— |JA, =/21343.37 =146.09

b, /A, —(~662.01)+146.09

(28.29¢ +17.4)MPa =163.08MPa — (12.75¢c)MPa

—C,= —C, =2.46,c, =157
' 2a, 2x164.16
—Cc=2.46
S R- ﬂ _ 2.46 x 4.5mm _5535mm
2 2
(¢
AP _ (590-140)N

0=——0.0Im= — K =45000N /m
K K
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_B4PR°N, o B4PR'N, 5 _64R°N,

o= 0= R = n
Gd Gd AP Gd
1 64R3NC Gd* Gd*
—= Z K= ——> N, = 3
K Gd 64R°N, 64R°K

_ 79300x10°Pax (4.5x107%)*

) o — 66.585 = 66
64(5.535x10°)® x 45000
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